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Mean: 0.292

Std dev: 0.162


Carbon Conclusion
Day2/ S2
· Uniformitarianism: 
· Assumption: 
- The half life of Carbon 14 is __________ years.

- At ________- half lives of decay the radioactive material has only .1 percent remaining of its original content

- Carbon is _____________ at about 50,000 years 
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What alters the equilibrium?

1. ___________ 

2. Vehicles 

3. ___________

4. Catastrophes 

5. ___________
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Younger than we think
1. ________ galaxies

2. _____________

3. Comets

4. _______ and the Sea

5. ___________ field 

6. Too much _________ in minerals

7. _______ radioactivity

8. Biological material _______
9. Strata tightly _______
10. _______ on the ocean floor

11. Not enough Stone Age __________ 

12. ___________ to recent

13. __________ human history too short

14. Distance of the _________
15. _____________






Statistics





More than 84% of insects still in existence have been found in the fossil record that “date” to 100 million years ago. The insects didn’t evolve.





�








